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S FRBLA BEA | BOR BER] WE | BE | B | oo BB RHER| BE | BE | B | oo
# SEE| AR | AB | AB | TV e amm | AR | Al | Am | T
HEBRUEHE ML 3 |—m=| 1] 8 [ 8 [ 1 | 13% | 2 2 o | 9 | 2 | 22%
SBEBHRA LI 4 |—mEl 2 | 4 ] 4| 2 | s0% | 2 2 3 | 3 | 2 | 67%
AN B S EHRE LN 3 —MRE| 2 3 3 2 67% 1 1 3 3 1 33%
I T A3 5% 8 RV ER R AE WD 1 3 2 |—m=| 1 ] 1| 1] 1 [100% | 1 1 3 | 3 | 1 | 33%
a5 12 6 16 16 6 38% 6 6 18 18 6 33%
HEEZRHBMRELIN 8 —RE| 4 12 10 4 33% 4 4 13 13 4 31%
HEBRREHEH BB 10 | —M&%E 5 17 16 5 29% 5 5 14 14 5 36%
MAEBERENRBEFRZRE LI 10 | —M&%E 6 14 13 6 43% 4 4 13 13 4 31%
RREBEARIELTN 12 | —f&E| 7 17 16 7 41% 5 5 9 9 5 56%
NRBBEERELIH 6 —MgE| 3 2 2 2 100% 3 5 5 5 5 100%
HHRABEZRETI 10 | —M4&E| 6 13 12 6 46% 4 4 8 8 4 50%
L L e LT - PR 6 |—mE| 4 | 7] 5 | 4 | 57% | 2 2 5 | 5 | 2 | 40%
RENEMALMELTN 15 |—M&=E| 8 9 9 8 89% 7 7 5 5 5 100%
DHETCEBRBREE LB 6 |—mxE| 4 | 6 | 6 | 4 | 67% | 2 2 3 | 3 | 2 | 67%
AHELEBE AR RREN BB 5 |—m=| 3 | 4 | 4 | 3 | 75% | 2 2 1 | 1 | 1 | 100%
BB LRI 5 —igE 3 4 4 3 75% 2 2 2 2 2 100%
EENERELTN 6 —fE| 4 4 4 4 100% 2 3 2 2 2 100%
HEBNERBELIH 6 —fRE| 4 1 1 1 100% 2 5 4 4 4 100%
EMEEBRIBTIH 6 —ME| 3 7 4 3 43% 3 3 13 13 3 23%
Bl EEERELTI 10 |—#%E| 6 9 8 6 67% 4 4 6 4 67%
Bl TIEERELTH 8 —igE 5 13 13 5 38% 3 5 5 71%
6 —igE 3 6 4 4 67% 3 4 4 100%
FEFIRI S R RE IR - - 2
1 T 1 0 0 0 0% 0
6 —MgE| 3 3 3 3 100% 3 3 4 4 3 75%
ERRIEBRIETH - - 2
1 R 1 3 3 1 33% 0
EYBEETEAERE 7 —fgE| 4 3 3 3 100% 4 7 7 4 57%
SRR AN T e 6 |—m=| 4 | 6 | 6 | 4 | 67% 2 3 | 3 | 2 | e7%
a8 156 91 160 | 146 86 54% 65 75 128 | 128 70 55%
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